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7 (b) A uniform rod [ab] of length d rests
with one end b against a rough vertical wall.
The other end a is tied to a point ¢ by a light /
string [ac] of length d. Ifthe coefficient
of friction between the rod and the wall is £, \
find the least angle that the rod can make with

the wall.
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Resolve forces:
horizontally: Tsig = N e i)
vertically: Tcosa + N = W ... (i1)
Take moments about b:
W idsing = Tlbd sina
iW dsina = T 2d cos ¢ sing
—W—/ = Tcosa
4
Substitute into equation (ii)
E & = sing = W
4
i + l sing = W
4 2 4dcosco
=5 tanag = 6
& = B0.54° or-80° 32>
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